BALLT—TI

No. | B&Zl itk B¥E | fEH SoVF |WHiGHE| H | UP
9:50 |FASH
1 10:00 |DSCJ D#R# 5T JDL SR 1RFE 20 2 12
2 10:.07 [DSCJ C#k#k ST JCL SR 1RFE 19 2 12
3 10:14 |DSCJ 3k ST J3L CR SR 6 1 6
4 10:17 |2a2=7 STV FJL SC AR 10 1 6
5 10:21 |DSCJ D#kEk ST JDL SR RS (12) 1 6
6 10:24 |DSCJ C#kEl 57> JCL SCR AR (12) 1 6
7 10:29 |DSCJ B#kEL STV JBL | SCRP | R 12 1 6
8 10:36 [DSCJ AfREk ST JAL | SCRPU| #RE 10 1 6
10:45 |4AEH (5%)
9 10:50 |DSCJ D#kdk 57> JDL SR R (6) 1 | IE6E
10 | 10:54 |DSCJ CH#kik ST JCL SCR R OB (6) 1 | Bk
11| 11:00 |DSCJ 3#k#k ST J3L CR R (6) 1 | IE6E
12| 11.04 |2=7 STV FJL e R OB (6) NGRS
13| 11:08 |DSCJ B#kEk ST JBL | SCRP R (6) 1 | IE6E
14| 11:16 |DSCJ AfR#k ST JAL | SCRPJ R (6) 1 | IEfE
11:26 |STYFdF—EF R/ ELEZ—/BKH (45%)
15 | 12:11 |DSCJ CHki X225 —F2 JCS2 FQ 1RFE 34 3 24
16 | 12:22 |DSCJ DRk R 5 —FK2 JDS2 TQ 1RFE 30 3 18
17 | 12:32 | =711 BfkE R4 5 —F GBS WF 1RFE 18 2 12
18 | 12:39 |2 =71 C#Ek X35 —K GCS WT 1RFE 17 2 12
19 | 1246 [ =71 AfREK X2 5 —F GAS TF 1R%E 15 2 10
20 | 12:53 |DSCJ C#ik R4 —K2 JCS2 FQ 2R FiE (24) 2 12
21 13:00 |DSCJ D#iik XA 4 —FK2 JDS2 TQ 2RFE (18) 2 12
22 | 13:07 |DSCJ B}k R4 4 —F JBS WTQ 1RFE 38 3 24
23 | 13:23 |DSCJ C#hii R4 5 —RK2 JCS2 | WFQ AR (12) 1 6
24 | 13:28 |DSCJ Dk REH—FK2 JDS2 TQ AR (12) 1 6
25 | 13:32 |DSCJ 3Rk R4 5 —K J3s WT AR 10 1 6
26 | 13:35 [2=7 RAH—F FJS WQ AR 9 1 6
13:39 |#ARE(10%))
27 | 13:49 |DSCJ ARl RBU5—F JAS | WTFQ 1RFE 30 3 18
28 | 1410 |DSCJ 3Rk R4 4 —K J3s WT R B (6) 1 | IEtE
29 | 14114 |Pa=7 REAVHE—F FJS waQ R (6) 1 | IE6E
30 | 14:18 |DSCJ C#ii R4 H—RK2 JCS2 | WFQ R B (6) 1 | IE6E
31 14:24 |DSCJ Dk X232 —FK2 JDS2 TQ R (6) 1 | IEfE
32 | 14:28 |DSCJ D#ik REAUHF—FK1 JDST WF 1RFE 44 4 24
33 | 1442 |DSCJ C#iik R4S —FK1 JCS1 WT 1RFE 58 5 35
34 | 1459 [DSCJ B#k# R34 —F JBS WTQ 2R FiE (24) 2 12
15:10 |#KEE (10%)
35 | 15:20 |DSCJ D#kk R4 4 —K1 JDS1 WF 2RTE (24) 2 12
36 | 15:27 |DSCJ C#iik R4S —FK1 JCS1 WT 2RTE (35) 3 24
37 | 15:37 |DSCJ AfR# XA 5 —F JAS | WTFQ | 2% (18) 2 12
38 | 15551 |DSCJ C#ik R4S —FK1 JCS1 WT 3RFE (24) 2 12
39 | 1558 [ =7 Bk RE 4 —FK GBS WF AR (12) 1 6
40 | 16:02 [ =7IN CHRkE REF—F GCS WT RS (12) 1 6
41 16:05 | =7 Afdk XA 5 —FK GAS TF AR (10) 1 6
42 | 16:09 [DSCJ C#hik XA —FK1 JCS1 WTF AR B (12) 1 6
43 | 16:14 [DSCJ Dk X2 % —K1 JDS1 WF AR (12) 1 6
44 | 16:17 [DSCJ Bk X2 5 —F JBS | WTFQ AR (12) 1 6
45 | 16:24 |[DSCJ ARk RAUE—F JAS | WTVFQ | #:RB% (12) 1 6
16:33 |#KRE(10%))
46 | 16:43 [ =71 B#Fk X445 —FK GBS WF R B (6) RS
47 | 16:47 [ =710 CHRE RE5—F GCS WT R B (6) 1 | IB6cE
48 | 16:51 [ =7 AflEk R4 —FK GAS TF R (6) N2
49 | 16:55 [DSCJ CH#hik R4 —K1 JCS1 WTF R B (6) 1 | IB6cE
50 | 17:01 |DSCJ Dk A2 5% —K1 JDS1 WF R B (6) SRS
51 17:05 |DSCJ Bk X445 —F JBS | WTFQ R (6) 1 | IBfEs&
52 | 17:13 |DSCJ ARl RE5—F JAS | WTVFQ R B (6) SRS
1723 [RAVE—R-FF—F X
17:27 [#&7T




